MAT1211 "Name  SOLWTIONS

Quiz # 3A | ID
1. Give the definite integral that results when finding the volume generated by revolving the region
shown in the diagram about the line z = —1 when using the cylindrical shell method (2nd method).
Do NOT evaluate the integral. _ Y
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2. A uniform cable hanging over the edge (pf a tall building is 80 ft long and weighs 160 lbs. How
much work is required to pull 10 ft of the cpble to the top? O — // .
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3. Find the work required to pump all the li;quidput of the outlet as shown in the diagram. Assume.
the tank is full and the liquid weighs w pounds per cubic foot.
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4. Find the average value of the function f(z) = ¢ on the interval [0, =].
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